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awN is the same as a 32°p - 32°P 1197 QWN

OVERVIEW

The X3 sought to refute the 1"'p by arguing that only 1°® can be 21 an
awR, but not 2*7¥; to which the X3 responded 7279 117 awWR, and therefore
just as @7V can be 211 a nRYA, according to n"7, they can also be 217 an
awX. Our MdoIN shows that this view is contradicted elsewhere.

mooIn explains that the meaning of 1279 1177 QWN, is -
— 'oUN N 1222010 D2TY VINMI 2909

That according to ', the 2>7v obligate him to bring a WX 3272, even if he
contradicts the 2>7v and does not admit.

mooIn asks:
— 129 (0w X, 01 97 mynav) PNV 71T PNINNIT NNXH

It is astounding! For we have learnt in the ;7127 in the beginning of '7 P79

1792, if an owner of an ox said to his watchman, by whom he deposited this ox -
—*995 ©YWN HHHANY IMN DIPYN OITYM N IR 2N TY2AUN 23N Y9IV 120D

‘Where is my ox?’ and the 0in 2w answered him ‘it was stolen’; the
owner said to the n"w, ‘I am administering an oath to you concerning this
ox that it was stolen’, and the n"w answered 17:&,4 and then witnesses

testified that the n''w ate the ox, the ruling is that the "% must pay double

to the owner. However if the n"w, after he swore that it was stolen, he -
—Sowun) *unmm 199 OIYN MSYN AN

Admitted on his own (without any 2°7¥ testifying) that he indeed ate it; the
ruling is that the " pays the principal plus a fifth to the owner, and in

addition is obligated to bring a @WK 277 for swearing falsely. It is evident from
this 71wn that -
— DUNY UMIN DOYN PPN DTy 29 Uy HaN

However if he was forced to pay by the testimony of 2>7» he does not pay
the 2wWRY w2 (but rather the 9>). The 0>7v cannot obligate him to bring a awX 1277

' We cannot therefore refute the 1"p by arguing owx 12°mn 19w 0% 7n, for 07 are also oWK 127Ax.

? In our texts the X073 in the 73w is 1233w, See however 'on there 279 7"7 that the X077 is 1998w,

? The rule is that if a 01 "W claims that the 1175 was stolen from him (and therefore) he is Mw; if it turns
out that he stole it, then the 1"w pays 993. This is referred to as 17292 213 NIV WV is 793 27,

* He accepted the oath; meaning he swore that it was stolen.

> The fifth is actually a fourth; if he ate an ox worth four 17 he must add one more 17, paying five 1. The
addition (of one) is a fifth of the entire payment (of five)

® This is known as the M> 1 awx which the 77n states in 13- 7 RPN
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for the °pw naw, since he does not admit to it. This contradicts our X ) which states
that 0>7v obligate him to bring an awX according to 1", even if he does not admit.

mooIN responds to an anticipated answer that perhaps that 71wn in my2w follows the view
of the 0’21 who maintain that 2°7¥ are not 21 an QWX:
— 9o 9295 7N)3? DINN P92 N IPI (x,np 91 xnp xa3) NP IIND 9992 139 19Y

And this w» was similarly cited in 8%p 9127 P9, and it was established
in X»p 1am that this mwn is according to 2''9. The question is how can this

mwn follow the view of "9, when »n"9 maintains that 2>7v obligate him to bring a 127p
awR?!

nv0IN answers:
— DUN NN 1229010 O>FY NI 22907 RINT NINDT 990 U

And one can say; that the X°»0 of the X713 here, which maintains that

according to »''1 the 2>7¥ do obligate him to bring an aWN -
— 9ON1 295 NIVN NINN 1INY NY

Will not establish that aforementioned wn according to »''" -
— 719591 199N WS DNN NNPINY IPAT NIN

But rather as the X713 there initially wanted to establish it that it is in a

case where he ate it when it was a 99,
— DOYN 29NN XY DT NN Y3997 9307 DNNT NIND XYM

And conversely that 8°:9 there, which maintains that according to »''9

the 2°7¥ do not obligate him for an 2w, different than a N and that is -
— Pnmnt 2905 oUN 23T DIUN

Because by an 2wy the ;790 writes 777\07 [and he will confess]", that X*310
there -
— 1397 19N OYNRT XO2NT NY)DI 929 NY

Will not agree to our X°»10 here that 2wN is the same as 329p.

T,

¥ The xm3 there ask on this 7wn why is it that if the o7y testified that he ate it, the ruling is that he
(merely) pays 293; he should pay 'm '7, since he had to vnw the ox. Initially the X3 answered that he ate it
when it was a 12°21 (it died on its own). There was no nvnw and therefore no ' 7. The X3 asked why are
we saying that he ate it as a 17°23; why could we not answer that he ate it when it was a 790 (where the
nvnw did not enable him to eat it 1n°12) and therefore he is MWd from '™ '7. The X3 answered that the
7awn is according to n"7 who maintains that a 7X7 AIRY 7v°nw (an unfit 70 nWw, such as the 7w nw of a
79"v) is considered a v N concerning the 211 of 'M '7. It is evident from that X n3 that this 71wn follows
the view of n"1. See (however) ‘Thinking it over’ # 1.

® The mawn will disagree with »" and maintain that a 7% 7R 700w (like a 790 DY NY) is AVNY TAW K7,
and the 711wn is discussing a case of 1970 nvnw, therefore there is no "M '7.

10 The w"wA amends this to (1,7 [Xw1] 9272) IMNM (concerning an awk 2°X). The P1oo of A7 in 7,7 XpP™
is concerning a 711 37 129 which is a nRuAY 7YY R 72w and not an DWK.

A owx 129 cannot, therefore, be brought unless the sinner confesses.
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mooIn responds to an apparent difficulty. According to the ¥°210 there that (even) n"9 is of
the opinion that 2>7¥ cannot be 2*°1» an owR, then we can refute the 1"p, by arguing 155 1
QWX 1217 19w however QWX NIR 1207 7PRY 0*7v2 RN, The answer is -

2:x9n PY0NTI TN T 19910 18N NN 499

That %20 will derive that 2°7v are 2>11 a 72w from a 727 7% from 199 and
X"y as the ) concludes here.

SUMMARY

There is another X210 which maintains that even according to n"9, only 19
can be 21n an aWX but not 2°7Y, since by aWX (as opposed to NXYM) the 771N
mentions *17.

THINKING IT OVER

1. mooIn proves that the mwn (of M¥12w) in which 277y are not 211 an QWX
is according to "9, since we establish it that he ate it when it was a 79°21 and
not a 750."° However this merely proves that the Xin of the mwn agrees
with n"9 concerning X7 A1RY 7w Nw; however it does not prove that the
Xin follows the view of 17 concerning (12721) QWX MNX 721N o7y

2. moon concludes that the other X°x10 will derive that 2>7v DR7YA 1s 211 a
aaw from the same mwn 7% as the X3 here.” Seemingly it is not
understood why M901n needs to mention it. Just as according to that X°210
there can be no 1"p from 1 since 5 is QWX 12717, so too according to our
X°210 there is no 191 1" because 1°2 is not susceptible to 7wndn. It is therefore
self evident that however we explain our X°210 here (from the mwn 7x), will
also explain that ¥°210 there! Why does n901n need to mention it?!

"2 In our X3 even though »"7 maintains that 1277 17 owX and we cannot refute the 1"p by saying 5%
31 129 12nn 19w, nevertheless the 1"p from 15 was eventually refuted by the X37%0 of 1K 12w 9% n
121 7wnana. We ultimately derive that o7y are 2>nn a 7y1aw from a mMwia 7% of X" 1°9; the same MwiT 7%
applies to explain the 1"p according to the X210 there. See (however) ‘Thinking it over’ # 2.

1 See footnote # 8.

' See (1"7¥) in (N2on7 AI02) A0 NML.

1% See footnote # 12.
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